PRIMER RECORD
Names:

Team color:

Date:

What are you trying to do today?

SAGA subunit chosen for deletion:

DESIGN THE FORWARD PRIMER

Step 1

1.  genomic sequence of URA3:

2.  first 20 bases from start of URA3 gene (note the 5’ and 3’ ends):
3.  Tm of first 20 bases:

     Ta of first 20 bases:

     # of hairpin loops found (length in # of bases):
    GC content of first 20 bases:

Step 2

1.  SAGA subunit:

2.  SAGA subunit sequence (including 39 bases upstream of ATG and 39 bases downstream of ORF):
3.  39 bases upstream  of SAGA subunit + first 20 URA3 bases (“landing sequence” in bold italics):
4.  Tm of full forward primer:
     Ta of full forward primer:

     # of hairpin loops (length in # of bases):
     GC content of full forward primer:
DESIGN THE REVERSE PRIMER
Step 1
1.  last 20 bases of URA3 gene (note the 5’ and 3’ ends AND whether the sequence is the “top” coding strand or the “bottom” non-coding strand):
2.  Tm of last 20 bases:
     Ta of last 20 bases:

      # of hairpin loops found (length in # of bases):

     GC content of last 20 bases:
3.  In the above analysis (2.), does it matter whether the “top” strand sequence or its complement is used?
Step 2
1.  find the 39 bases that follow the ORF for the chosen SAGA subunit:

2.  last 20 URA3 bases + 39 bases following URA3 ORF (“landing sequence” in bold italics):
3.  Your final reverse primer is the reverse complement of this sequence.   You can find this quickly by using the OligoAnalyzer at:

http://www.idtdna.com/analyzer/Applications/OligoAnalyzer 

    The reverse of the complementary sequence is:

4.  Tm of full reverse primer:
     Ta of full reverse primer:

     # of hairpin loops (length in # of bases):

     GC content of full reverse primer: 

FINAL PRIMER PAIR
Forward primer sequence:

Reverse primer sequence:  

